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For each of the following questions from 1 to 24, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correctoval (1, 2, 3 or 4) on the

Optical Answer Sheet. [48 marks]
1 Study the classification table below carefuily.
A B C D
Wine Butter Tyres Wires
Beans Eggs Newspapers Needles
Raisins Milk Erasers Buttons

Which one of the groups contains items that come from non-living things?

(1)
(2)
(3)
(4)

(1)
()
(3)
4

A

]
C
b

A

B
Cc
D

Which of the following characteristics do insects have?

They lay eggs.
They are warm-blooded.
They are covered with fur.

They have three body parts.

Aand B only
A and D only
B and C only

C and D only

(Go on to the next page)



3

Study the classification chart below.

Animals

-

With feathers

o

Can fly

Cannot fly

Kiwi

N

’ Without feathers

o

t With wings

Without wings

cockroach

caterpillar

Which one of the following animals is likely to be P?

(1)
(2)
(3)
(4)

Moth
Eagle

Ostrich

Butterfty

Peter planted four chilli plants, A, B, Cand D, in four similar pots. He placed the plants
under different conditions as represented in the table below.

Chilli Plant Air Sunlight Water
A No Yes No
B Yes No No
C No Yes Yes
D Yes Yes Yes

Which plants will most likely die after two weeks?

()
(2)
3)
(4)

A and B only

C and D only

A, Band Conly

B, Cand Donly

(Go'on to the next pége)



5  Study the classification chart below.

Animals

Bird
Turile
Lizard

Crocodiles

Cat

Deer

Guppy

Elephant

Based on the classification chart above, how are the animals grouped?

(1)
(2)

(3)

(4)

(1)
2)
(3)
(4)

The way they move
The way they reproduce
The type of food they eat

The type of outer covering

A Paper

B Metal ruler
C  Cotton woo[A
D  Plastic straw
A only

C only

A and C only

B and D only

Which of the following object(s) is/are made from living things?

(Go on to the next page) -



Two pots of similar plants were given the same amount of water and covered with boxes
made from different materials but of the same size. They were then placed in an open
field for one week.

Glass box Wdoden box

After one week, three pupils observed that only the plantin the wooden box died.

The three pupils made the following statements on why the plant in the wooden box

died.

Alice - The plant in the wooden box did not have enough air.
Brandon : The plant in the wooden box did not receive enough water.

Candice : The plant in the wooden box did not receive sunlight.

Whose statement(s) correctly explain(s) why the plant had died?

(1)
()
()
(4)

Alice only
Brandon only
Alice and Candice only

Brandon and Candice only

A compass, like a freely-suspended magnet, always comes fo rest in a

position.

(1) East-West
(2) North-East
(3) South-West
(4} North-South

i .(Qo'qn to the next page) . '
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10

Zachary observed the characteristics of four animals and recorded his observations in
the table shown below. A tick ( ¥ ) indicates that the animal has the described
characteristic.

Characterisfics ‘
Has legs Lays eggs Has hair
Animal
Monkey N +
Ostrich A A
Mosquito . ~ N
Efephant ~ N

Which one of the following animals’ characteristics has Zachary recorded incorrectly?

(1)
(2)
(3)
(4)

Ostrich
Monkey
Elephant

Mosquito

Tim took a bar magnet and divided it into four equal parts, A, B, Cand D with a marker.
He placed the bar magnet in a box of iron nails and then took it out. He recorded the
number of iron nails the bar magnet attracted in the table below.

Part of the magnet Numb:;t :;::;1 nails
A 1
B 6
C 7
D 3

Which parts of the magnet are most likely its poles?

(1)
(2)
(3)

(4)

Aand B

Band C

"CandD

Aand D

{Go on fo the next page)



11 Ming Ming wanted to separate two different types of materials using a magnet. Which
one of the following sets of materials would he be able to separate using his magnet?

12

13

(1)

Sand and plasticine
Steel clips and iron nails
Copper wire and steel staples

Paper strips and aluminium

Which two objects make use of magnets?

(1
(2
(3)
4

Balloon
Compass

Refrigerator

o O o >r

Styrofoam cup

AandB
Aand C
Band C

Cand D

Study the classification table below carefully.

Group A Group B Group C
Wood Frosted glass Clear window glass
Metal Tracing paper Clear spectacle lenses

Which one of the following objects can be placed in Group C?

(1)
(2)
3)
(4)

Metal plate
Handkerchief
Wooden door

Glass aquarium

—

(Go on to tha navt e



14 John has four electromagnets, A, B, C and D. The table below shows the number of
paper clips each electromagnet can attract with different number of coils of wire coiled
around them.

15

Electromagnet | Number of coils of wire | Number of clips attracted
A 10 3
B 20 12
C 30 ?
D 40 20

What is the likely number of clips attracted by electromagnet C7?

(1
(2)
3)
(4)

8

10

15

29

The diagram below shows part of a plant.

The arrows show the path taken by the in the plant.
(1) food

(2) water

(3) colours

(4)  mineral salis

(Go on to the next page)



16 Study the picture below carefully.

Some plants with weak stems climb up a support in order to get

(1)
(2)
(3)
(4)

17 Study the diagrams below carefully. They sh

air
food
water

sunlight

PRAELS Animal B

ow the skeleton of two different animals.

Which one of the following conclusions is not possible to make from looking at the
diagrams alone?

(1)
(2)
(3)
(4)

Both animals have a backbone.
Both animals have a long neck.

Both animals feed on plants only.

Both animals are supported by their skeletal systems.

(Go on to the next page) '
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18 Study the flow chart below carefully.

Plant Part

Does it absorb water and

nutrients? Yes

No

Does it absorb sunlight to make

food?

Yes
No
Does it support the plant?
Yes
Which plant parts are A, B and C likely to be?
A B C
(1) Stem Leaf Roots
(2) Roots ' Leaf Stem
(3) Leaf Stem Roots
(4) - Stem Roots Leaf

19 Which one of the following is not a system?

(1)
(2)
(3)
4

Piano
Marble
Camera

Schoot shoes

{Go on to the next bage)
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20 Thomas took part in a 100 m race. Which of the following body systems did he use
when he was running?

A Circulatory system
B Muscular system
C Respiratory system
D Skeletal system

(1) A and B only

(2) A and C only

(3) B, C and D only

(4) A B CandD

21 The diagram below shows the movement of food through some parts of the body in the
digestive system.

mouth
5
gullet
stomach
% “ Y
blood r smalil intestine » large intestine
v 3
all parts of the out of the body
body
What do X and Y represent?
X Y
(1) Water Digested food
(2) Digested food Undigested food
(3) Undigested food Water
(4) Water Undigested food
Lﬁ .

' (Go on to the next page)
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22 The table below shows one organ that can be found in the different body systems.
Which one of the following incorrectly matches the organ fo the system that it is found

in?
System Organ
(N Respiratory Lungs
(2) Skeletal Small intestine
(3) Circulatory Heart
(4) Digestive Stomach

23 The diagram below shows the human digestive system.

In which of the parts, A, B, C and D does digestion take place?
&3 Aand B oﬁ!y

(2) Cand D only

(3) A, B and D only

{4) B, C and D only

‘(Go_on to the next page)
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24 Study the flow chart below.

( Living thing J

Does it make its
own food?

Does it have
seeds?

Question Q

F rose plant J

Which one of the following is correct?

mushroom J

grass J

P Question Q
(1) | Pis atype of fungi. Does it have bright-coloured flowers?
(2) P is a type of bacteria. Does it have strong stem?
(3) |Pisatypeof flowering plant. Does it have strong stem?
(4) | Pisatypeof non-flowering plant. Does it have bright-coloured flowers?

END OF BOOKLET A
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For guastions 25 to 35, wete your answars in the spaces provided in this booXlst. The
numer of marks avaifable is shown in brackels [ ] at the ead of each gquesiicn ar part
[20 marks]

question,

25 Obsenve he pisture of the anirnal below.

A

Based on your observation of the picture only, state two cheracterlstics of the animal
to show that it is pof an insect. {23

{0}

28 Jayvion set up an experment ta find out whether plants nesd watsr to strvive.
Which of ths following variables below-shauld he keep the same o ghanged?  [2]

Varlables | Keop the same Change

R

Type of plant

Type of soll

Arnount of water

T Armount of sunfight

(Go on te the next page)
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)

The fiow chart balow provides infeimation on Tour different matarials A, B, C and D.

Uso the Information in the flaw chart to answer ihs questions.

saterial

Does it break whan hit? = 3 Ooces Itulowlight to
pass through?
Mo
¥ s Mo
Can il be stretched? ¥ B v
. _ c
Ho
b
A

(a) Based on thy flow chart above, descrive hMaterial A

Yen

(1}

(b) State ono difference between Mptatial Brapd WMalarial C.

(¢} Give an oxampla of Material D.

(G on tothe et p

Score”




28 {a) Label the plant parts Delow using the given words. (3]
roofs leaf stam figwer l
%
_ Pat A
— Pant s e
e soe PollCi_
{b) Whatis the function of Part C?
24 Read the statersents balow carefully end put a tick { ¥ ) in the corvect boxes. (3]
B Statement True False |
{a) | The ribcans in our body protects the lungs and heart.
{b) } Tha blond brings digestsd feod to sl parts of the body.
{c) | The saliva in our mouth soften the food so we can
' swallow it. 4 _
{d} | The large intestines absorb watar and undigested food.
(e} | The respiralary siystem consists of the nose, gullstand |
.| lungs only. . .
{f) | When food gets into our winklplps by mislake, we

choke ansd fry to sough it out.

{Go on to the next page)
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a0 The picture bolow shows an elestic iron

() What arg the materieis used to make Part X and Y7 {2
PartX
Pan'y, __

(b} Explain why the malerfal yvou have chosen for Parl ¥ is suitable for making the

handle of the electric iron. 1

{Go an to the nest pape)
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(b} | Thelike poles of A and B are facing -

The diagram below shows four-ring shaped objecis, A, 8, C and D, placed through a
rod.

Study the sliaterments below carefully. For sach statement, delerming whether it is

frue, false or not possible fo tetl. Put a tick { V') in the correct box. 21
T Statemant True False i Not
i possible
o tel

(&) | All four objects are definitely
magnels,

each olber,

{c) Object B is attracting object C. o

{d) Object Cis attracting Cblect D.

{2) What happens when tha uniike polas of bwo magnets face sach alher? 1]

{Go on to the next page)
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X2 Jonay vsod an iron Akl two ballenes and a oo ot wire 1o sel up ap axperimant a3

ahoed it e diagram beiw,

{a)

{d

{d)

Z0n ruar
batanys coil of wire
What s Jenny toying 1o turn the ifon nall into? i
What can Jerrry &0 o test whother her sel-Op is stnsosshut? {1}

What will happon if Jonny colls double the amount of vire around the fron nail'?

g

Bosidos fron what othor matedats can the nall be mada from? 1

{Go on Lo the next psge)
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34

a

Peter Izarni that plants havs tiny openings ke the ones shown in the diagram below.

Ty apening

£:)] Which part of the plant are these tiny openlngs mainly found n? 11

(b} Mame one funstion of these tiny openings. [1]
Label the parts of the leaf In the boxes below. (3}

{Go on to the next page)
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Dlffarent systams in our body work togethar to ensure that we are able ta funclien
propeciy.

{3) Which two body systems work together to ensuré that we ara able 1o move,
bend and slreich our pody? 11

o ke 5 = e ——

(b)  Which two bogy systems work lagether lo easuee that all pariz of our body
receva digested food 16 giva us enargy for our daily acliities? [1]

JR— e a e T i v Tt T e 1 i AT = e

(e} What wili happen to the food we eal if the muscles in the gufiel are not
waorking properiy? (1

END OF BOOKLET B
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25. 1) It has more than six legs.
it) It has more than 3 body parts.

26. Type of plant: Keep the same
Type of soil: Keep the same
Amount of water: Change
Amount of sunlight: Keep the same

27. a) Material A cannot be stretched.
b} Material B does not break when hit while Material C breaks when hit.
¢) Ceramic

28. Part A: Stem
Part B: Leaf
Part C: Roots
b) Part C absorbs nutrients and water and holds the plant to the ground.

29.a) True
b} True
c) True
d) False
e) False
) True




30. a) Part X: Metal
Part Y: Plastic
b) It is a peor conductor of heat.

31. a) Not possible to tell
b) True

c) False

d) Not possible to tell
e) They will attract.

32. a) Magnet
b) Put a few steel paper clips beside it and try to attract them.
¢) It makes the magnet stronger.
d) Steel, and nickel

Ll
L8]

. a) leaves
b) For the exchange of gases.

34. | Blade Stalk

Vein

35. a) Muscular and skeletal system
b) Circulatory and digestive system
¢) Food will not get to the stomach



	ACS SA2


